SHOEE FREESTHMAE—8R (FFH)
g A R 10 2[H F3H B4 5[ % 6[8] 5 7[8] 8[| 59[m| 10[ga] 5t
5H 68 78 8H 9H 10H 118 12H 18 2H

WRERE 13,400 7,700 7,700 0 7,200 7,200 7,200 7,200 7,200 7,200 72,000
PTAZ:t 650 650 650 0 650 650 650 650 650 650 5,850]
SEEPERE S MEGIE 400 0 0 0 0 0 0 0 0 0 400}
s BARR—VER L A— KELFHSREEEIES 1,780 0 0 0 0 0 0 0 0 0 1,780}
'3’1%;“ =E1EREH 8,000 2,000 1,540 0 1,540 1,540 1,540 1,540 0 0 17,700}
EFRITHEIERE 0 7,500 7,500 0 7,500 7,500 7,500 7,500 7,500 7,500 60,000}
E£REERE 0 900 0 0 0 0 0 0 0 0 900]
EBIREE 0 0 900 0 0 0 0 0 0 0 900]
B 24,230 18,750 18,290 0 16,890 16,890 16,890 16,890 15,350 15,350 159,530
WRERE 13,400 7,700 7,700 0 7,200 7,200 7,200 7,200 7,200 7,200 72,000
PTAZEt 650 650 650 0 650 650 650 650 650 650 5,850
SEEPEREE I MEGIE 400 0 0 0 0 0 0 0 0 0 400
ey BARR—VERt 4— KELFHEREERES 1,780 0 0 0 0 0 0 0 0 0 1,780
'E’Z%E”B EEM2ESEH 9,000 6,000 2,400 0 2,400 2,400 2,400 2,400 0 0 27,000
BERITEILERE 0 8,500 8,500 0 8,500 8,500 8,500 8,500 8,500 8,500 68,000
EREERE 0 900 0 0 0 0 0 0 0 0 900
EBIREE 0 0 900 0 0 0 0 0 0 0 900
= 25,230 23,750 20,150 0 18,750 18,750 18,750 18,750 16,350 16,350 176,830
WRERE 13,400 7,700 7,700 0 7,200 7,200 7,200 7,200 7,200 0 64,800
PTAZEt 650 650 650 0 650 650 650 650 650 650 5,850
SESPERE S FMEGIE 400 0 0 0 0 0 0 0 0 0 400
ey BARR—VERE A— $ELFHSREEQES 1,780 0 0 0 0 0 0 0 0 0 1,780
il EEEHIERE 6,000 4,000 2,500 0 2,500 2,500 2,500 2,500 0 0 22,500

Sﬂi ™=l [=] = A , y , ’ ’ ’ ’ y
BERITREILERE 6,000 6,000 6,000 0 0 0 0 0 0 0 18,000
HEERE 0 900 0 0 0 0 0 0 0 0 900
EBIREE 0 0 900 0 0 0 0 0 0 0 900
i 28,230 19,250 17,750 0 10,350 10,350 10,350 10,350 7,850 650 115,130
WRERE 13,400 7,700 7,700 0 7,200 7,200 7,200 7,200 7,200 7,200 72,000
PTASEt 650 650 650 0 650 650 650 650 650 650 5,850
SESPERES FRMEGIE 400 0 0 0 0 0 0 0 0 0 400
e | BARK—VRRLL S REAFHSREERNS 1,780 0 0 0 0 0 0 0 0 0 1,780
EH BEHESIERE 9,000 5,000 1,620 0 1,620 1,620 1,620 1,620 0 0 22,100
1% BERITREILERE 0 7,500 7,500 0 7,500 7,500 7,500 7,500 7,500 7,500 60,000
HEERE 0 900 0 0 0 0 0 0 0 0 900
EREEIREE 0 0 900 0 0 0 0 0 0 0 900
i 25,230 21,750 18,370 0 16,970 16,970 16,970 16,970 15,350 15,350 163,930




TH6EE FRARFFMMEE—ER (BFH)

g A R 10 2[H F3H B4 5[ o[ 5 7[8] 8[| 59[m| 10[ga] 5
5H 6 H 78 8H 9H 10H 118 12H 18 2H

WRERE 13,400 7,700 7,700 0 7,200 7,200 7,200 7,200 7,200 7,200 72,000
PTAZ:t 650 650 650 0 650 650 650 650 650 650 5,850
SEEPERE S MEGIE 400 0 0 0 0 0 0 0 0 0 400
e | BARK—VRRLL S KEAFHSREERNS 1,780 0 0 0 0 0 0 0 0 0 1,780
£ BEHEHR2ERE 9,000 6,000 2,900 0 2,900 2,900 2,900 2,900 0 0 29,500
2% BERITEILERE 0 8,500 8,500 0 8,500 8,500 8,500 8,500 8,500 8,500 68,000
E£REERE 0 900 0 0 0 0 0 0 0 0 900
EBIREE 0 0 900 0 0 0 0 0 0 0 900
B 25,230 23,750 20,650 0 19,250 19,250 19,250 19,250 16,350 16,350 179,330
WRERE 13,400 7,700 7,700 0 7,200 7,200 7,200 7,200 7,200 0 64,800
PTAZEt 650 650 650 0 650 650 650 650 650 650 5,850]
N SEEPEREE I MEGIE 400 0 0 0 0 0 0 0 0 0 400}
BHEH [ axaf—vERe s— aEAAHEREEAES 1,780 0 0 0 0 0 0 0 0 0 1,780}
‘f‘é& = FEEHKIF (BF) K5 6,000 4,000 2,000 0 2,000 2,000 2,000 2,000 0 0 20,000}
B EFRITHEIER 6,000 6,000 6,000 0 0 0 0 0 0 0 18,000}
ERRRE 0 900 0 0 0 0 0 0 0 0 900]
EBIREE 0 0 900 0 0 0 0 0 0 0 900
= 28,230 19,250 17,250 0 9,850 9,850 9,850 9,850 7,850 650 112,630
WRERE 13,400 7,700 7,700 0 7,200 7,200 7,200 7,200 7,200 7,200 72,000
PTAZEt 650 650 650 0 650 650 650 650 650 650 5,850
SESPERE S FMEGIE 400 0 0 0 0 0 0 0 0 0 400
s | ARARR—VREE S KEAFHEREEAES 1,780 0 0 0 0 0 0 0 0 0 1,780
-t EEMERI1ER 6,000 3,000 2,000 0 2,000 2,000 2,000 2,000 0 0 19,000
14 BERITREILERE 0 7,500 7,500 0 7,500 7,500 7,500 7,500 7,500 7,500 60,000
HEERE 0 900 0 0 0 0 0 0 0 0 900
EBIREE 0 0 900 0 0 0 0 0 0 0 900
i 22,230 19,750 18,750 0 17,350 17,350 17,350 17,350 15,350 15,350 160,830
WRERE 13,400 7,700 7,700 0 7,200 7,200 7,200 7,200 7,200 7,200 72,000
PTASEt 650 650 650 0 650 650 650 650 650 650 5,850
SESPERES FRMEGIE 400 0 0 0 0 0 0 0 0 0 400
= BARR—VERt 4— KELFHEREEEES 1,780 0 0 0 0 0 0 0 0 0 1,780
58 EEMEE2ERG 9,000 6,000 2,400 0 2,400 2,400 2,400 2,400 0 0 27,000
2% BERITREILERE 0 8,500 8,500 0 8,500 8,500 8,500 8,500 8,500 8,500 68,000
HEERE 0 900 0 0 0 0 0 0 0 0 900
EREEIREE 0 0 900 0 0 0 0 0 0 0 900
i 25,230 23,750 20,150 0 18,750 18,750 18,750 18,750 16,350 16,350 176,830
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WRERE 13,400 7,700 7,700 0 7,200 7,200 7,200 7,200 7,200 0 64,800

PTAZ:t 650 650 650 0 650 650 650 650 650 650 5,850

SEEPERE T MEGIE 400 0 0 0 0 0 0 0 0 0 400
BARR—VERt4— KELFHEREERES 1,780 0 0 0 0 0 0 0 0 0 1,780
BEMEERIFERET 9,000 6,600 2,000 0 2,000 2,000 2,000 2,000 0 0 25,600
BERITEILERE 6,000 6,000 6,000 0 0 0 0 0 0 0 18,000
HEERE 0 900 0 0 0 0 0 0 0 0 900
EREEIREE 0 0 900 0 0 0 0 0 0 0 900

& 31,230 21,850 17,250 0 9,850 9,850 9,850 9,850 7,850 650 118,230




